Itis Challenge that You can get 12/12 marks in Board Paper (100 % Guranteed)

Q1. Tick for comrect answer.

1X252=252

Lbgernert -:-P-E.-f¢

1.n the ime kiln, the reaction CAC0y;,yy - Calyy + COygy !

goes to complebion because:

R |

HJLAFJMMJL: CaC0yyy — CaCy + COyg |

(A) High temperature (8) Iﬂcmmmum; |10 €20 is not dissociated
_{.;’.*j CaC0y is more stable than coz:__:a_uf' Ca0ié 2 v
) Ca0
CaC0y =~ S Ca0 A v
Ers
2.In a chemical reaction, the substances which react together are calied: 1 a8 d /e bignt ATz 2 it i 02
[® Reactants . |(B) Products T (C) Equibriom£2 54 |(D) Numerator 2 < ¢
3.When a syslem is in equilibrium, then: Fetnltlt i L3
(A) (8) ] ]
Concentration of reactants | The opposing reachions stop | The rade of reverse reacbion | The rale of lorward and
and products becomes equal | 7, (L= .o Lad)®h &, i |18 very siow mreal:tmbemm
ut'pi J"'-.:}r"'# ﬁﬁ' 'E:-k 4 4 rfﬁ“wr“ JI"‘” “Ls H.{—:,.-f}:sl gul,.lf.i o Bandf
=l r = =fex
d.in dynamic equilibrium W PN Y
(A) (E) (D)
The reaction siops lo The quanbties of reactants | The rate of forward and The reaction can no longer
procesed mmmbmmm reverse reaction becomes | be reversed
eredie 2a LTGRE |os EF w8 | L2 6 gy iaa |TEE it a2 1
2 dr e et
5.In an imevershle reaction, dynamic equiibrium: e ASE UL SIS sur 5
(M Never establishes (8) © (D) Establishes readdy
T Establishes before the Estabishes after the e Ty T an
completion of reaction compéebon of reaction :
rfikaie X G lenfimliat e
= &=
6.Plants use: Wl SNy 6
ﬁ'cmm (B) Oxygen o= 7 (C) Natrogen % 5 I{Dl Sulphur |
S ds s
7.The color of iodine is: i b EXIETT
(A Black us (B) Yeliow &, [® Pupe s (0) Green -

8.Al equilibrivm state, there are possibiies:

wef Lol LNSEASER



v . J® e 2 [icrFour . (D) Frve 3y

9.Tha coler of Hi is: teLAHI 9

|A) Orange £ .o IB) Purple .} ; (C) Red &, - | @iCoutess .

10.The substances which are formed during a chemval reaction are called DL g S Ha N0
Products = g Immf’- A |{E1H:mts:-¢4- (D) Elements .~

11.Raversible reacton is represanted by: P L el AL

i~ B = [ IS o=

1210 the beginning, the rate of reverse reaction is gt e AP idatigntls P2

(A) Less / | ) Moderate --.s 41 Veery fast = == |® Sow -7

13 Raversa reacton s e s indasigald

[ia) (B) [© 2

Which takes place from left | In which reactants reactlo | Which gradually siow down | Which gradually speeds up

1o night form products .Ll.'.-c.--lﬂ'n‘-.i ;-rr;f.'-‘-,ﬂ

q?'..fl!f'iﬁwf’ll‘—uﬁﬂ Lfirg.ﬁdxb:u

14.What will be prasent in the equilibrium mixture? Nyg + 3Ny = ANHy K, = 2.86mol *dm®

K; = 2.86mal 2dm® Naig) + 3Hayg) = Ny, Wz}l £ L0k

A4

(A ony ity s~ [ @NHgand by, Ny ltclmmu,un (D) Qely iy Hy 2
NHy .+ Hs: Ny Hy o Ny I~

15 Moksr concenirsfion is represenied by, e TR ) A5
(1) ™l e (0) 48
16.Guldberg and Waage pu! law of mass achon in YL Lo S SN 116
) | (€} 1879 o) 1828
17.Who presented taw of mass acton? WLt
|IA) Datton 7' () Guldberg 7.2 (C) Rutherford 1.4, (D) Moselay L_»
18.The writs for molar concentration are: L A
|a) mat dm |8y mot *dm? (C) moldm’ M) moidm
19.The specific rate constant of forward reaction is represented by, A O O PP TR WAL
M iy (B) k. (C)k, o1
20K, is equal lo: e d:Ke 20
e Bz ©X lm%
21.The value of K. in equilbrium state is: ‘e dndnfKot A bt
]w% PE I'IEI;: lmg:
22 For reaction 24 + B = 30 equiibium constanl can be represenied as: 22

uﬂ;vfbc,;..nf.:.-’-‘f LEMEL LM B=3C00

[24] 18] 3 ‘

|wﬁ'r:r 'IHHJ:I;IIHI o Le @ l_l;!-fiﬁ




23.The equilibrium constant expression for equation Mag) + f1ig) = 2Hl g is: 23
Mﬁd—-’-’-”fﬁ)ﬁnﬁ{.& Hag + Loy = 2Hl g idr

_ [P |||;] _ [Ha][12] |.|.:] _ _[HIT o), _ ML)
ol (1) Y= iy <= prin = "oy
24.Which of the following equilibrium expression is comect for the following reaction? My, + 3, = 2NH, 24
Moy, # IHs g = 2NHy o Yo bl dsbig ol d £ Hiinlitn
(A)_[PNHi| lmtl'-‘:lﬂ'ﬁl (gp_IVHF (D) 1AL
LATEEA NAIL [Nzl [HeT [NHSF
25.Which of the following equilibrium expression Is comect for the following reaction? Mayg, + Tygy = 2HI g, 25
Hag) + hmi?"’gr tecru At A g ol e Lo ink 1w
(A) o  [H2]11:] (B) - [2HI] _ [y 0, _ IHFUT
K= Tann il G110 ke = i) Ke = iy
26.The value of K, depends upon® e AWK 26
() Temperature ; £ </ [B) initial concentration [C) Both oi/vs (D) None of the above
< X F et
27.n a reaction, when the number of moles al both sides is equal then the unit of K, will be: a7
P L PPN R Y R 1Y M
!. Mo unit (B) mol“*dm" |{I:] maid (D) mol*dm
28.In balanced equation M, + M., = 2NH, ; the units of equilibrium constant are: 28
S (L LPTEAENL Mg + FHog, = INHy o Simeth?®
(@ymel o (8)mel 'dm? |ic) moidm * (D) Nore
29.The Kz units for the following reaction will be: M) + fagy = 2Hlg, -29
Hagy + hgy = 2H1gy :Luns* ¢ EKed L gl in
lta) maldm ]{a]mui“d‘m-3 i None | (D) moidm’
30.For a reaction between PCl; and Cl; Io form PClg, the units of K¢ are: 30
) s (LKl Lik PClse. ClaaiPCly
(A) moldm [8)mol *dm 2 Wy mal dn? [0) mold
31.When the value of K is very small, il represents: w0 b7l s dafip2 31
(A) (8) i) Ix!
Equilibrium will never All reaciants will convert inlo | Reaction will go lo number of products is
establish products complebion negigile
fﬂuff:FﬁFf!.t'hfﬁ "!h:-',?u:u;-h{ﬁ'lérﬂ: -I';'_H.. H'J‘“rﬁlld, JI‘FM:‘}JU‘:?!{
LS
32 Reaction wil be in equibrium if St A A E s, 32
(W G - Ke [®10: < X | TR () 0- -0
33.The large value of K, indicates that the reaction will be: A S e 3/ s daminfie 33
(A) In equilibrium 2 £ 2 3& |(B) Completed 1. (D)
Proceed in the forward Proceed in the reverse
ditection directon
Fie P LT e 3P0 S




JNQ, - K¢ then reaction procesd:

s B Q < Ke 134

(@ Forward direction (B) Reverse direction (C) Equilibrium o2 £ &  |(D] In both directions
_F) .r 1 _;F.*'J'T-J_l _=_)._.;1...
35Reacbon wil proceed from left 1o righ it S Lo L1935
[wo: - [ - & W 0: < K |ipye--0
JENQ = rrmmﬂ]m: :fLﬁ-JﬂJnQ::K;fLSI
[(&) Forward 27 |B) Reverse (¥) In equibrum state (D) Nore of the above

ot g FEL
37.In reaction Ny 0; = 2NO,, the value of Kc will be re-dnfKe 2o N O, = 2N0.3T
(A)0.213 (B)0214 Boan [mo212
38.In & reversible reaction if Qc = K then we can conclude that (i /551.€ 7w Qc = Ke /it iignde 1,138
[iA) (B) (]
Reacton is occurring in Reaction [s occurring in Equilibrium has been Reaction is not at equilibnum
forward direchon reverse direction atfained P PR
e dPILTNE ape PSSR0 et MeAddh
39, For which reaction, k is rate constant? tesfog id Lhigas/ 30
(@) Forward reaction (B) Reverse reaction (C) Upward reaction (D) Dowmmward reaction

s b Fd s I o S5 s by i
401 Q: » K then reaction will be Ful1dn 0 - K Sil0
(A) Static equilbrium (B) Chemical eguilibrium {C) In the forward direction hhhmﬁm
Edub & £k S e LAl ) &
#1.When the value of K, is very targe. il indicates: P VR PTPOR N | S
(&) 8) (c) L ]
Reacton mixture aimost Reaction mixture almaost Reaction has nol gone ko Reaction mixdure has
consists of all products consists of all reactants completion m@;ﬁumﬂ:ﬂs
F{UAE{LF.{‘G:;'J o 'ji;;w;f{rﬁr:{'lﬁd ﬂh"t:’;up&g'ﬁflri '-T"-:I"—ﬁ .{: A i
.,,...,-._h....l. it e

ﬂhm@ﬂdmmu e tacSEWH, 0242
(A} H* (B) Hy ® 140 [Iﬂ] o?
43.The meaning of Latin word “acidus” is e M ria ki udd
[(8) Sweat 2= (B) Tasteless 5 o |c) saty @ Sour e
M.......... is nol mineral acid: el A A
[(&) e ) CH;COCH [(c1#z504 [ 12 naos
45.Aads reachng with metal sulphides, iberate gas: mﬂﬁ.&u’rxﬁfwﬁ;ﬂﬁ
(R) Oxygen =7 Ifﬂl Hydrogen 7.2 i! Hydrogen sulphide (D) Hydrogen oxide

2 g A Py

46.When bases react with acds, they form sall and:

st DL 43 8L So Bl L La 2% 4B



(A} Onygen gas 7 =1 [(B) Hydrogen gas o7 7t [ Waterdy P o

]
47.Which of the following is not an acid? teld Fvele Ll iba AT
(A) Ay (B) 8Fy M Ny (0 y*
48.The natural source of Gitric acid is: te gAdedflat p A8
(A) Rancid butter .= 7y |(B) Fats 2 i Lemon ! (D) Sour mik sve ie: g
49.Rancid butter has a foul smefl because of- Wi e 49
[A) Butanpic % ¢ (B) Nitric acid 2 5% (C) Tartaric acid 20 e |(D) Sulphuric agid 2o 2™
50 Accorcing o Arheraus concep) base is a specie which” ALy FLu5A50
(A) . () (0)
Gives H* ion in aqueous Gives OH ionin agueous | Which can donale a proton 1o | Whach can accepl a profon
solution solution other spacie form ather specia
=il FTH LG S e gToH & i l.-"lllf1 J" mrgtig f & g rm l.!'rﬂ z"J-E coig e & o n.."rﬁ'-

F ed
51.......... 15 @ lewis base: gt L 51
I@HE}, (B) 4+ (C) BF, NHy
52.In strong acidic solution the color of imus becomes: ‘e tend S Lot Soa76.52
@Red: - (B) Blue (C) Yeliow i (D) Colodess %,
53, Uric acid is found in: 1Pk L Sog.53
MBrine .. |8 Fats (€) Apple - (D) Grapes ./
54.Which of the following is used for the preparation of soap? Tttt e il ipn 54
(A) PBINO3); I{m 2nCly (§) NaOH (D) Fe{OH};
55.The tasle of acid is: te bn N1 55
(A Bitter v’ [(®) Sweer @) sour > [ say Z
56.The taste of base is: te bt JN 256
(@ Bitter [i®) Sweet iz (€) Sour [ 52ty &
5T.......... is not an agid tet A e ST
[y 1ci [y s (€) H,C0; @5,
58.The acid which s the king of chemicals is: e AN AL 2 iy, 58
[(@suphunc acd i . [(B)Nitncacid 2o s [1C) Hydrochioric acid llﬂjmiuau;.;_z:ﬂ
2o L

59.Which basa is more cormosive? Te e ul iUl 59
¥ NH,OH (B) NaOH (C) CalOH), llﬂl An{OH)y
60 Arrhenius presented the concep! of acid and base in: Y PNt AL S A K0
My 1787 (B) 1788 (C) 1789 (D) 17%0
61.The conjugate base of HCl acd is: :e oo SEWISHC] 61
(A) y* (B) on- ™ cr lm} NH;




§2.The conjugale base of H,0" is: ietm e SIW M0 62
g0 [®o (C) 0 I{ﬂl HyO'
63.The acid used in kead siorage batieries as electrolyte is: L il M ML L Y B3
W) Suiphunc acd = . |(B) Uric acid 2 g (C) Formicacid 2o 04 | (D) Citic acid 2o '
B4.Which acd is used lor the preservation of food? Tereietonald L1 37 /784
(A) Sulphunc acd 2> .2~ |(B] Nitric acid 20 " #¢ (C) Hydrochloric acid I!Enmm:i:;-:-.f-&
faSAuin
65.The base which is usad in alkaline banery: tedmder 2t b 65
(A) NaOH (B) AYOH), | kou (D) MgiOH);
8611 Kw = [H"] [OH | = 1.0 « 10 **3125°C. What is the concentration of #* in pure waer at 25°C7 66
rJﬁfJﬁleb:Jiﬁﬁqu [OH | = 1.0~ 10" 259
i@ - 10 “moldm * (8)1 = 10" mokim 3 ()1 = 10 **moldm * [0)1 » 10" moidm?
67.The firs! acid known lo man was: Wil rh o & BT
|14 Benzoic acia s <= [(B) Acatic acd o g+ | M Sulphuric acid 2+ .2 |1D) M 30d 2744
68.Lactic acd is found in 1erilhba % 68
[(8sour miooice 1B Apple [(€) Grapes .7 (D) Lemon .7
69 Bronsted-Lowry presanted the concep! of acids and bases i t B S P St A 2§ 5
[(a) 1787 @i 1623 i@ 192 (D) 1943
T0.The acd present in sour milk is: :_.;_uu_q-g...t-m.ng.?n
[@Lscicacs o 5 [®)Fomicacd o <s  [(C) Tonarcacd zo Liex|(D) Urcacd 2o g
T1.Dilule acd reacls with carbonates lo produce the given product except: a1
Urw.-&&hﬁu"ﬂgﬂ
(A) Sait &7 (B) Water (€) Carbon dioxide | Hydrogen 2.2
2T J et
T2.Citric acid is found in: te il ia S > 72
[A) Urine o2 23 (B) Fat 2 &2 JE) Lemon .2 (D) Sour milk 2 »si s 2
73.The binary compounds of oxygen such as carbon dioxide and sulphur dioxide wena named as acids by J3
sV A8 B AT et K S S35 A LT
(A) Jabir bin Hayan M) Lavisior = .51 :1IB!AIJH1=:... 2 (0) Hamphrydevy
Lo ot ok Jdir
74 Word acid came from' tedALas T4
[(A) Greek = 5= g @ matan = 52 0 (C) Indian = &= o2 i Latn = 52 2o
75.Malac acid is found in: te bl la (LTS
(1) urine = s [BrFat 2 ¢ (&b Apple 2 -z (D) Butier 2 o~
76.Butyric acid is lound in- ‘g tylllaS7ee.76
(141 Apple 2 o [ierFass 2 (C)Grapes £ onfi | Mg Rancid buter 2 o o1

T1.Bases on reaction with ammonium sall release:

s LS Mg E e Tl



[A) Nitrogen gas .= o%:5t  |(B) Hydrogen gas .= o131 |(C) Sulphur dioxide gas Ammonia gas 7
S A

7. strong basic soluon the color of itmus tums info: e bynfas LT LTl

[(4) Yeliow . 9 Ble (C) Red . - (D) Colorless &, &

79.Which chemsical is used for remowng grease from ciothes? rerpVie Lol LAobvl /e wniT9

(A) Ammonium nitrate (B) Aluminium hydroxide 'i Ammonum hydroxide | (D) Aksminium chioride

et A b | B Sl

80.The formula of oitnc acd - ) i trA¥laS 80

(A) €14ty COOH (B) C13Hy COOH [[ﬂ:‘-‘u"::m (D) C:H 15 COOH

B1.Which one of the following is Lavorsier acid? Tetac Sidvul Bl

M CO; [B) HyS0, [CYHCI (D) NH3

82.Which base is used lo neutralize acidity in the slomach? tetpUSndiold LLP L tafe e B2

[w cajomy, (B) NaOH | Maom; (D) KOH

B3.Acid used for lavouring of food is- tetpliEtan ol d LI L suf il i B3

(A) Benzoic acd 20 % h Acetic acid Lo S [rm Sulphunc acd 2 2= |[D) Nitnc acid 2o 5

84.Which compound is amphatenc? teJd 20 0 rUf B4

9,0 (B) NH; [ierHe (D) CH;COOH

85.The pH of acd rain is: drpHJ A 85

e

i@ (8)5 [CIE D)2

86.The pOH of 0.001M salution of KOH is: L pOHSF -0.001MEKOH 86

B3 [B) 11 Ilclz (D) 4

87.The sum of pH and pOH is aways: setmdsttarf pOHapH BT

A)1 (8)0 [ic)7 X

88.Which 15 comman indicator? e A gyo/88

[1A) ettt orange £ £ [ ivmus paper &~ [IC)pH paperph = (D) None of the above .2

89.The sum of pH and pOH at 25°C is always: ig-trdearl¥pOHapH 25°C -89

e 818 Jier 10 P

90.The pH of neutral solution is- e dnpHfcf#J)2 90

(a5 u’ [0 D) 12

91.The pH value of a neutral solubon is atways, e dn2sf Hd 28191

(A) Greater than seven (B) Less than seven I‘IEquﬂhnm (D) Zero 5+

i 2l e ot Az L o

92.Values of pH and pOH are: - 0d = 2 (pOH.ipH 92

W01 10010- §1010 14014 Je 11013113 (D) 110 16 116

§3.When akalies react with ammonium salts which gas & fberaled? T JnBAu?tf Tl elifiers/ vor 293



[wrnweno (B) NH,CN [51 NH,CONH; D) NH,C!
110.Percentage of methane present in natural gas is: et gl AENALIN
(i) 75% (B) 80% g o= 10) 50%
111.The amouni of carbon in pea is: ‘e doed s Jorhifae 111
(a9 6% (8] 70% G (D) 50%
112.The percentage amount of carbon in wood is. e st ML F 12
oy ac [/® 52% Jicr 60 (0) 70%
143.The amount of carbon in kgnie is: e s fezkitenl 113
(A) 50% I rox [ieres (D) 0% ]
114.The formula of ethane & et AN 114
[A) CHy B CoHe [ercane (D) ey
115.Tha malecular formula of butane is: e e &)L 0. 115
W e [@ce [iercas, (01 Ceke
116.General formula of akanss is: e s A zvA 116
[1A) G- [B1CFemr [icIGFn s PCr:
117.The lormula of decane is- ‘o dr AN T
[1A) Cotiz (@it f(€) Croti {0) CigHss
118,The reduction of alkyl halides takes place in the presence of te dm2foard /P 1iaf e S 118
CEE (B) Na/ HC! It':lugmu (D) Cu 1 HO)
119.The hydrogen aloms in peniane are: sl ARt =119
A 10 &2 Jic 14 D) 16 B
120.The other name of alanes is: :q.fﬂf.l\ll*ﬁsﬂm
(A) Halogens =& [8) otetins 7 . [@ Parafins 7.5 (D) Ettylene o2 v
121.Organic compounds containing — OA group are called: WL Wi AL v onA2
@m = I{B] Aldehydes ;57 i IIEI Calones 5 (D) Carboxyic acids

St AT
122.Which of tha following compounds is sidehyde? e S o/ LS L g s A2
(A) OH - CH, - CH, lfﬂ]m - GHy ].I CH,CHO .[mCH, COCH,
123.General formufa of saturated hycrocatbons is: e br ARV BE 12D
[(A) Ctzn 2 [ lic) Eatzn (D) Cotn
124 Which of the followng s saturated hydrocasbon? te i B S Aol e Lo 124
(@ metnane .~ | ®1 Propane 3+ Jrc1 Exnyne (0} Propyne 74+
125, Percentage of methane present in ratural gas s: Tetmf 4o 2 ENAdi3125
) 75% e 80% [ipes (0) 50
126.The formuia of pentane i e tr AL 2126
9 Cehyg [[B)Csti [lerests (D) CeHys




(A) 0, (B) co, (C) Hy w NH;
94.Which of the following is an example of complex salt? 7 _-).fq‘.’."wf.:..;.,thﬂ
[A) Zinc sulphate =i~ £:  |(B) Potashalum /ey & Pml_.rm fermocyanids | (D) Sodium phosphate
Ftpend Sy =i i

95.Polassium ferrocyanids K [Fe(CNy)] is: i Ko [ Fe(CN) Lirtfels 2 84,95
(A) Normal salt <A tit (B) Mixed sall ot =5 l'cm-pu:ﬂl.-.h—-..r&"r (D) Double sall A A
86.Ca (OC) C! is an example of: 1e J& Ca(OCH C1.96
[A) Complex salt oA ~5%°  |(B) Double salt = b (C) Nommal sall oA .2 i. Mixed salt A 35
97.Which of the following is acidic salt? TecAJlaufc Lo 87
@ kHso! (B) A{OH),CI (C) NaCl (D) CaloCHCI

98.5alt formed with he reaction of HCl and KOH is: tetrne Bul-2ed 8 /KOHAHCI .98
(A) Acidic = (B) Basic ¢ | Newsra U< (D) Complex 4
99.Which of the following i not present in mixed salts? tenl LS Vi ule L 16099
(A) K4 [Fe(CNe)] (B)Ca(oCh)Ci ic) '!l NMH.NO,

K3S0,.A(S0,),.24H,0
100.Which of the following is used as fertlizer? et W UEF )M e 230100
(A) Gypsum ¢~ (@ Polassium nirate (C) Sodium carbonate (0) Bothaand b
-';-i-'tﬁ’t‘ gl e WA e oot I

101.8leaching powder is an example of te et Lo A0
@ Mixed salt f o |(B)acdiesat f o 2 [IC) Doutlesan S on 25 [1D) Nane 2

102KCl is an example of: s J& KCL102
I'Ii]ﬂu.mhsal't,.f.:.ﬁ.-..!! @) Normal sall [ = b [(C) Mimed sall § b 25 (D) Complex sall A 55
103.Which of the lofiowing is double salt? Tt 103
[{l] MaCl (B) Ca0 (C) Ay B ESD;.MISG.},.HHﬂ
104.Who prepared the firs! organic compeund urea? Wkl L i Tug 104
0 Wohter . |(8) Ahenivs - =i (C) Daton 5 D) Jabir bin Hayan ct» o 4
105.The branch of chemistry which deals with hydrocarbons and their derivatives is called: 405

e I e BT MN1 4 JE pp ot

(A) Inarganic chemistry () Organic chemistry (C) Physical chemistry (D) Anatytical chemistry

gt LT e L g Kd gL

106.The bond energy of C - C bond is: tefAMIHC-C 106
|¢*! 255kmor’! (§ 355 kimor! IH'-'I 455 kmor! (D) 555 ke mat !

107.Carbon is: re Jrcz A 107
(&) A metet =i (B non-metal =ts & £ |(C) Metalloid v =us (D) Compound .
108.The example of heterocycic compound is: e SO A 2108
I!’l.’l Benzene .2 = (B) Hexane ;5 l[{:l Cyciohexane ;-5 | @) Pyridine o3 f.21

109.The chemical formula of urea is: e dr A 109



127.The number of hydrogen atoms in pentane is:

:..ur_-;&lp’-'um::rc’ﬂz?

[121 10 9 Jic) 14 (0) 16

128.The chemical formula of chloroform is: e i AT A A 128

[wewse (B) CHCly | CE i cHty

129.The other name of alkanes is: L.;..ﬁlfufj'-_’l‘l

Il:.li'.l Halogens =2 & (@ Paratinns 15 (C) Olefins 7 4w Iml Acetylenes 4=

130.Which of the following s called paraffins? s Le Ll 130

(148 Avkanes (B) Alkenes (C) Aynes ¢ [0 Amyts ¢

131.The main source of alkanes is: e o REL

(B) Air and water gas [C}Eﬂgumwlhmns (D) None of the abave 2° 5/

Petroleun and natvralgas | < 5, o0 Y " < N

F G ey

132Marsh gas consists of e dn AR

H Methana .;._ﬁ (B) Ethane .= (C) Propane o (D) Butane o7 ¢

133 Formula of ethane is: et A 1.133

|18 cH, (B) CzH, W CHg [ che

134 Which reactons are the charactenisbes properbes of alkenes? fuger S, 2 /13

(A) Substtuton reaction | WY Oxidation reacton | (C) Reduction reaction (D) Adéition reacton

G e e i Fh & L S

135 Alkenes are also called: BT 7135

|(A) Parafins 7.5 B Otefins 7 4 (C) Acetylenes 2= (D) Aeromalic compounds
S g

136.General formuta of alkenes is: . ir &SR 136

MEZE |(8) e (C) Coten (D) C-Hen

137.Alkenes are known by the name: Te bty et /137

I':l] Methane o=~ I[EI Parafins # 5 ) Olefins # Jo (D) Acetylenes =+

TH.Eeiwahhmaubrhpnlymﬁmhnd' tedbedes e o2yl L b iE0138

|1&) Methane .~ (B) Acetylene =7 | Ml Ethene o |11 Butere .- «

139.The final product of the oxidation of acetylene is: eSS et 139

[ Omlicacis 2o £ [ Giyeot 7 [i©) Gyosat 7 & (D) Nore of the above 2 &

140.The catalyst used in the halogenations of ethene is: ‘et ML 40

[ . (8) Mg & (D) Ag

141.Ripening of bananas produces gas tWL ek, ;rﬂfgnuﬁd" LEL

[(AIMethane = == |(B) Ethane A ) Eene < . (D) Nitragen = o7t

142.The general formula of alkynes is: et AJ AV 142

b CoHza (B) Catzaus (C)Cottznez (D) CrHzn -2

143.Dehalogenation of letra halides is camied in the presence of:

tedmtnr /b b 143



(A) K (B) Mg (C) Na W Zinc dust

144 Alkynes are calied: Rty R LT

|{A) Olefns (8) Ethene <™ (€) Paraffins 7. N Acetylene =5

145.Which one of following hydrocarbon gas reacts with acidic solution of KMnO, to neulralze its pink colour? 145
e 3o /P BN L P Sl o Lyt Myl

A) CH . () CaHg [orcate

146 Dehydrohalogenation of vicinal dihalides takes place in the presence ot 46

te dn2ilerf == dnmadisuado St

(A) Aqueous NaOH @ Axcoholic KOH (C) Aqueous KOH £ KOH  |(D) Alcoholic NaOH

& NaOH &A1 KOH =5 NaOH

147 Ethyne is oxidized by KMnOy and ......... hydroxyl groups add 1o triple bond: 247

Bt PSS Tt L T P AL £ KMIND, /i

(A) Two » (B) Three 2 @ Four.i |0) Five &

148.The percentage quankily of acetylena in coal gas s :q_ﬂnﬂ..-i.fn:'-""l‘,q/;.lﬁll
W) 0.06% Jﬂ!] 0.7% (C) 0.08% (D) 0.09%

149..2 & e SlagS TR T 5148
A Omicacd =+ 52T [ @ Glyeol 4 (€) Giyasal 7 it (D) Nore of the above .2 o/ |
150.The molecular formuta of acetylene is: e $r A/ AWNLETA150
1A) CHg —lfﬂlc,a. (@ CH, (D) C3Hs

151.General formula of carbohydrates is e tr ARV NS
(A)C- \(H:0), [iB1C-#:0). [@iC-#:0. [l c-iHa.

152.Which simple sugar cannot be hydrolyzed? W 1 i o S Pub /152
M Glucose i/ (B) Sucrose :».” !IEI Starch 3.2 I{D] Celulose ;i
153.Laciose is a lype of sugar, it consists of sugarand ......... ..;..;_P" wntiiFze £ LS S2:2153
[A) Sucrose o~ (B) Mattose ;A (C) Starch 5.5 Galactose ;75

154 In which ant of digestive system glucose is absorbed? tetno il L4~ Hnlf154
[A} Stomach ».- (B) Liver £ @) Smallintestine =7 Jf | (D) Large intestine =7 iz
155.Which of ihe following is pentahydraxy aldehyde? ¥ e e Ll i 155
[A) Starch 3. ¥ Glucose ] (C) Fructose 77/ (D) Sucrose 5.~

156.Which of the following is tri saccharide? tetnfdne Ll 0156
(A) Carbohydrates .=.51e.¢ |(B) Proteins =g W Lipids ;. (D) Vitamins "t»
157.Which of the following is pure cellulose? PR i AL
(A) Magze & @R e (C) Bread 1. |:n1 Wheat -="

158 Which of the following is crystaline solid? teu e Ngle filizie 158
@ Gucose ;7 (B) Starch & & [1©1 cetuose - (D) Giycogen %/ ¥

158 Mono sacchandes consists of .......... carbon aloms:

ralaf A FirASe



(A) Two to four s = (B) Four Ip eight #7 = .4 bmumﬂm;c..-.:' (D) Five loten s = &1
160.Which of the following does nol contain starch? et itrb L e 2t ) pace 160
|08 sugarcane - (B) Maize & (C) Bartey - (D) Potstoes /i
161.Penfahydroxy ketone is called: e il e, 161
(A) Glucose :+ ¥ (B) Starch 3. (C) Sucrose ;.7 [!‘,l Fructose ;7
162.Chemical formula of fruclose is e dr AlLVI7) 162
[A) 122204, | (€) Cathia D) CsHiz
163.Which protects us krom musde cramping? tetS=tbulc L4/ 1163
(A) Proteins 7. . [B) Lipids ;3! (C) Vitamins sz, (@ Cartohydrates 2.7 ¢.6
164.Amino acds are imked lo each olher Ihrough: wWIla Lo rofizlaruibd
|||h] Hydrogen link = %2 |(B) lonic link & F¢7 (C) Gelatin fink & .~ .Fephh ki _..-q:.
165.Which of the following does nol conlain prolein? T strdip i e bid)nss 165
[18) Puses .z o [B#Poiatoes 2 ivi (C) Beans .z (0)Eggs 2 v
186.Gelatn protein s present in: te-Jriefrecl = 166
[(&) Biood .~ ./ |18 skin 2 (C) Heart 2 ) ([ Bores 2 w3
167 Polymers of amino acids are WAL uABT
(A) Carbohydrates =516 | Protems s, (C) Vitamins . (D) Lipids
168.Proleins are ... by weight of cell: e tmteiigoud L PVl k168
(A) 40% [ 35% (C) 65% ¥ 0%
169, The body reactions ae catalyzed by WS SFRIT L L 2 168
(A) Amino acids ;2 # v (B) Lipid's ;3! {§) Enzymes 5 (D) Fatty acids ; =»
170.The chemical formula of citric acd is: e dr RSV LS pAT0
]m i+ Hy, COOH [B) Cs2 My COOH (C) CrHy:COOH (D) G Hy: COOH
171 Building blocks of kipids are: L8 hERLIYATH
IWHu:lu.-ie:aci:ls-'r:—-';'-"‘:' (B) Amino acids & #u l.l"ﬂﬂfiﬁ’di:-'{@a (D) Mong sacchandes
P F ]

172.The formula of paimitic acid is: e lr AV SN T2
(@F+: H COOH (B) C1»H:sCOOH [ic) CieH.:COOH D) C+H:COOH
173.Catalys! used in the hydrogenation of vegatable o is: ettt M 2 S S S TS AT
(A A (8) Cu P) Ni (D) Pt
174 Which scientist discovered the structure of DNA? cHaiesFrd A, ;mu;m
[{4) Hopkins =5} (B} John Daflon o ct hme and Crick (D} Robert Hook & =

TR
175.The nitrogen present in urea is used by plants 1o synihesize: 1L /U2 S Ao F e Ly ge sy 115
(A) Sugar /* (@ Proteins = I{E] Fats o~ l[ﬂ] DMA DNA
176 Vitamins B complex contains. DL e LS B 176



|10 vitamins 10 ==, (B) 8 vitamins 8 5t |(€)6 viamins & >z, (D) 12 vitamins 12 ¢,
177.Deficiency of vilamin D causes: i dnedUDert ATT
W Rickets o f £+ (B) Seurvy go.” (C) Anemia 2 (D) Night blindness

o it am
178.Who proposed the name of vitamin? Wl Lo/ 78
[@gFors—s (B) Watsen o Jier F ek [0 Lews -2
179 Rickals disease is causd by the deficiency of vitamin tedre s ot/ Yad 1479
[@p .o (B)A et [ic1E e [orceec
180.Who invented vitamin B, (Thamin)? Wi ol /7t dd) By e 180
|(A) Hopkins unk 8 (C) J Watson o & |1 Davy s
T, is caused by fhe deficiency of vitamin A ‘e dre S YA 181
@ Night blindness (B) Sore eyes o J T |C) Rickets s S £+ (D) Both aand b
SR T 1 e it it
182.Fal soluble vitami is: e B fir el 182
(A AA B)EE [CIKK ) A
183 Hopkins noticed for the first ime: Wttt A}.183
(A) Carbohydrates .51« |(B) Proteins ' (C) Lipids ;3 h] Vitamins st
184 How many percentage of sunlight is absarbed by atmosphenic gases? T ol /i ;7S 72 o1 2 S ZNT 1fiur 184
(A) 12% b 18% [Itl 24% (D) 3%
185.The two major components of almosphere are: AL 2 r0 185
|A) Hydrogen and oxygen | (B) Nitrogen and hydrogen | Nirogen andoxygen | (D) Oxygen and waler
g PR oy o 8T F T hf dy o F 5
186 Nitrogen and axygen are ......... % of atmosphere: 182 s N S TP e 186
[1ay80% (8)90% [@ss (D) 75%
187.The volume of CO; in dry by ratio is: e b LT e e 187
[h0.03% (B) 0.83% B CEET (0) 78.09%
188.0n which bases atmosphere is divided inlo four regions? TV L i V7 1188
(A) Change in pressure (B} Change inradiations | M) Change in lemperature  |(D) Change in weather
da 2 dar 2 A s Ry ds v
189.Heigh! of stratosphere from earh's surdace is: egidectil 2E 189
1(A) 30k (B) 40 km Il! 50 km (D) 60 km
190.Thermasphere (ayer is al height above earth's surface is: redde b S22 r 7190
(A) 6-12 kem |(®) 1250km [ic) 5085 1m ¢ 85-120 kem
191.The major constituents of troposphere are nilrogen and: Y T dar L g AL
(A} Hydrogen %n.3} (B) l:a:hm dioxide @ Oxygen <1 (D) Sulphur

T gl

192 Al the height 85-120 km from earih’s surface is:

tetmrryf E) 12028520 et A9



[A) Troposphere =2 ¢

ll‘Bl Mesosphere ="y

[ll:'.* Stralosphere = & » '.-Thunmp‘m e P

183.The layer of atmosphere which is nex! lo ropospher and extends up to 50 km is called: 193
e QW A Ex lr“gl:-f;" [
[A) Mesosphere = = Il’}l Hydrosphera =3} (C) Tharmosphere = 7 _[‘ Stratosphere = i >
194.Waste matenal thal pollutes air, water and 5ol is termed as: et SulTIY wdidnzat {1194
(A) Polluton 24 [@ Potuter -2 [(c) sonent =i [0) sotuson 2~
195 A primary peliutant is te bl Fie L1195
(A) CHe iy 10 [i©1:co; [© 50,
196.Carbon monoxida is harmiul 10 us bacause: Sl e wchSd ¢ sl Ir 2 X106
[A) Paralyss kungs (B) Damages lungs ssue |19 (o)
e lakfud, & S i £ s . |Reduces oxygencamying | Makes the biood coagulate
ability of hemaoglobin cekaXtlch,
Sl L:.-'F-'TJ#I*!’;
i
197 Every year there s anisaof ......... *C in almospharic lemperature due 1o carbon dioxide in air: Aa7
el L LSS0 P se pf Bt Tt N in
(A} 2°C ]. 0.05°C [€)0.02°C |tm 0.01°C
198A secondary pollutant s° e atdp e ... 198
(A 50, |®) co; (C) CHy |1 o
199.The pH of normal rain water is: e dupHUR L4 4 199
|gsse (8)5.46 (C)665 |msss
200.The pH of 30d ram is- :e-UnpHues L 200
» CE (C)665 CE
201.Which one of the metal clogs gills of the fish? te 8o Sl F LM aduidtons 201
A ron 25 |81 Copper s & Auminum = & (D) Lead
202.Cause of global warming is: ‘e gnf L 202
@ CO; GasCO; < (B) 50; Gas S0; < (C) NO, Gas NO; < (0) 0; Gas 0; <
201.In which region ozone formed? ted Lok s/ chin 203
[iA) Tropospnere = 2 ;[ swatosphere 22 2+ [(C) Mesosphere 2 2 v= [1D) Themosphere
L r?
204.5ea surface s peotected from ulrawolot radiabions in global warming by: 204
1;.&2:!" e AL il Soire Ea) S
|14 co; Gas co, A~ (B) SO; Gas 505 < (C)NO,GasNO; < |0, Gas 0y~
205.The formula of azone is: “e. Uy AV 205
10, [ (€10 |io)co

206.Which one ol the reasons of global warming?

e ofefeitliziod B K206



c
gorphu of infrared ml.:mahm ol infrared :ﬂ.t::suﬁnn of ultraviolet gﬁmmﬁﬂmﬁm
radiation emitted by the earth | radiations coming from the | radiations coming from the | radkations by the earth
bolrike OSSR 0T i, o ReAigs |bifcsrWit g, [=5 Wit
b ¥ 7 i BF it 60 it ek
207.Which gas is called graenhouse gas? tedWfumafvul20T
ﬁ co; (B) co [C) N, (D) HCI
_208.The oceans contain about of fotal world's water: te gdrer osr §E I Ly 208
1) 91% (B) 93% (C)85% o7%
209.The boiling point of water is: igabig B 14.209
|4 o°c (8) 25 (€) so°c I 100%c
210.Density of water is maximymat .. tedrtte iAo £407210
[1A) o°c (8) 2°¢ o (0) 5%
211.The density of water at 4°C is: e de i (4% 211
[':"1 1 gom? 8) 2 gem? (€) 3 gem? 10) 4 gem*
212.The treezing point of water af sea level is: tetmasig ) Jaer212
@o'c B) 10 [l©)22¢ (0) 3¢
213 How much percentage of waler is drinkable out of al the water present on Earth? 213
e MLE 2T Nihsrrots
A 0.001% B 21% bm ‘:Tm:m
214 Which of the following ion is nol a cause of water hardness? T D8 ol AU M IO e L7 T 000 214
|14 ca?- B g (€) SO; (0) o'
215.The removal of Mg*and Ca*7 lons which are respansible for Ihe hardness of water is called 215
re FWBIINFT Ca* 2l Mg L bd AN AUN
{A] Permanent hardness {B) Temporary hardness W) Water softening 55~ » |(D) Hyorogen bonding
VELy g iy ded 5 sy
216.Which of the fofiowsg method @ used for remaving lemparary water hardness is? 216
tereira e/l L1 P 7 AuS S0
| MPClark's method {B) Washing soda method | (C) Sodum zeolite vy £i» |(D) Filtration method
XAV 3 Ve By Sz X
217.The chemical used in Clark's method is: e Sl e 22 P L LA NT
(A) Ca{HC D), 8) Ca-Zeolite (C) Zeokte Na; Ig Ca|OH),
218.The Iypes of water hardness are: wadmeinf A 14l 218
@1 7wo. (B) Thiee & (C) Four .y (D) Five &,
219 Permanent hardnass = because o tedma s/ fthaie 219
|(a) Ea(HCOs), (8) Ma(HCOs), (c)Nacl T

220.Temporary hardness ol water is removed by adding:

e D LSS T e A L3220



(A) NaOH | §) Co(0H); (0)Cas0.

221 Temporary hardness of water can be remaved by adding; e P el S Fas S SR 221

[A) Lime stone o= F Siaked lime j ¢ 2 (C) Quicklme /¢ £/ |(D) Washing sodair 2+

222.Wiich of the following is an agricultural influent? teca)E fole L0002

[A) Heavy metals 2 S IIBI Mineralacids ;o J»  |(C)Detergents ~Zzs  |(D) Fertizers 5w

223.In water, _....... ions are responsible for the quick growth of algae: e dmg B/ d 7T .t 223

Ao,.7o) [ee [eycr 5o P150; .CO;

224.The rain water is sighty acidic itis because: tpdnetnSlade i 224

[0, W co; [ic150; )Mo

225.Vibrios cholera hacteria causes the dissaser Tetifiiu ol o An225

RBChoera /s (B) Dysentery &= i [(C) Typhoid 24 ke D) Hepasits .

226.The cause of cholera is° te I 226

|1A) Protazoa i, (B) Virus - 5u M Bacteriay 22 (D) Furgi 47

221.Swimming poos are cisaned by & process called. et e g Lor 221

[@Bomnaton 5. |18 yrogenation 571 [(Citiwaton ¢ [(D) Chlosination . .

228.The indusirial effiuents, when taken by men, are responsible for disease. 228
T0E xS Tl SIS Bk pis

|I":‘ Cancer & ll’ﬂl Asthma .+ [C) Pleague o/ Iini Cholera .=

229.Cholera is caused by te gl 2229

(1) Virus - Wsacteray £ | (€ Fung i¢ (D) Protozoa i

230 Chalco-pynite is an ore of '-.h-'l'lfl-ﬁ-'ﬂ,flm

i cooper ¢ (B) Siver .+ (€) ron 57 [0) Avminium 22

231.The chemical formuta of chalco-pyrite is: g tr Al 25 3

E"" CusS | @ curess (C) Cus (D) FeS

232.The underground and other impurities present in minerals are called: a0 S L sze 27 » 232

Llﬂll-luaalmrd-'-':' (B) Ores :.+ I!Gang.a | D) Compounds ::44

233.......... 15 called the kung of chemicals: e KA.

[t e [81 im0, H2S04 [0 1500,

234.The brown colour of the hairs 15 due lo the presenceof ......... compounds: 234

e bne o IRIL Lo iNNein

(1) Teanium == |0 Copper ¢ |(C) Molyodenum 222 |) Mercury 5/,

235 Ammonia is prepared by the process calied: terel e i/ P 235

[(A) Solvay's process MR Hibr's process v =  |(C)] Floatation process (D) Hyber's process

VT 1 et g A W g A2

236.The quaniity of nitrogen in urea is: ‘e dmas i Frtlg 236

(A) 76 6% (B) 66 6% (C) 56.6% Iifm.

e 3P IV iSRSt 20T

237.The preparation of urea consisis of .......... slages;



{8 Two s W Trree (C) Four ¢ (D) Frve £

238.In Haber's process, the catalyst used & e b2 f £ 4238

(el ¥ (B) Platinum /'y (C) Cadmium </ (D) Sodium £3-

2139.The number of units in Pakistan for the preparation of urea are M{M&Mﬁﬁi“

[ Four (B) Five 41 (C) Six ¢ ) Ten.-

240.The gas prepared by haber process is el nfgesaduTig 4240

[® co; | ® 50, [CIE e

241 Petroleum fraction having molecular composition Cy - Cis called: 2 difn Cy -Gl /AU A ) p 28

(18 Petroleum gas < 4. |B) Petroleum ether 2 4. [i€) Gasolne o pet (D) Kesosene o f7 o=
AL osre

242 Petroleum fraction having molecular composiion Cs - Criscalied: e Jin Cs - CxidlAfA i) 5202

[ Pevoeun gas = 2, [1B) Petmieum ether 2 11 [IC) Gasaline orpetr (D) Kerosene o 77 o= v
JrAL e

243 How many carbons atoms are here in gasoline? ol i A 2l 243

IWFhEhm_-.au-.ig lllSa'rentnlm;.aah {C) Thieen to fifteen (D) Fifteen to eighteen
i 2 ¥

244.The molecular composition of kerosene il is: e il JAS ST L 244

e -G |i®iG - G M Ce - Ci: [iD) Gz - Cs

245, The carbon compasdon of diesel ol is: e e idex ME S TUzs245

Hll Cy - Cya (B)C1e = Ciz [v:n = Cys (D) Crs = Cis

246 Petroieum fracton whose compasiion is Cs and C; 1s called: ‘e W Crat CocP sl 7 % 1246

[IA) Petroleum gas < £, il Petroleum sther 2 ¢ 5 W!Gasgi::nrpuhﬂ (D) Kerosene o .f7 o= 1
AL e

247 Which fraction of petroieumn is used as fuel in ships and industries? 247
febmdrdddtug o g S Jual ik

| Peroleum gas < £,2  [(B) Petrol 2 [(C) Dieseloil 57z ) Fuetod 57 U4

248 Which of the following fraction s used as laboratory sovent? te JmMresdrf d Mol et s 248

(M) Kerosene od = [IB) Diesel 01 ST 2y ) Petroleum ether 2 (, |(D) Fuel 0l 57 4

249.The molecular composion of gasoling is- e ) A AL 20

G -G ‘Fr -G (€)Ce - Gz (0}G:2 - G

250.The molecular compostion o fuel ol is: AEJ! S FT)d 250

|ﬂ]er—em mfm— Ciz ll:}l'::l— Cis . 15— Cin

251.The boiling range of gasoline or petrol is: e Ll udrd 251

MECEC (8) 17010250 C (C) 25010350 C (D) 35010300 C

252.The boiling range of petroleum ether e b Byl Ak 425

{MITD-IE-DE m]ﬂ- BO'C [[m!ﬂ- 170°C m]BlJ- 170°C




